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Simultaneous Equation

❑ Solve for

2𝑥 + 3𝑦 = 7

4𝑥 + 2𝑦 = 10

Solution:

Putting the above equation in matrix form;

2 3
4 2

𝑥
𝑦 =

7
10

𝐴 𝑋 𝐾
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Simultaneous Equation

❑ 𝑋 = 𝐴−1𝐾

𝐴 =
2 3
4 2

= 4 − 12 = −8

Cofactor of 2 = 2; Cofactor of 3 = -4

Cofactor of 4 = -3; Cofactor of 2 = 2

Adj A=
2 −3
−4 2
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Simultaneous Equation

❑ 𝐴−1 =
1

𝐴
. 𝐴𝑑𝑗𝐴

𝐴−1 =
1

−8
×

2 −3
−4 2

=
ൗ−2
8 ൗ3 8

ൗ4 8 ൗ−2
8

∴ 𝑋 = 𝐴−1𝐾

𝑥
𝑦 =

ൗ−2
8 ൗ3 8

ൗ4 8 ൗ−2
8

×
7
10
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Simultaneous Equation

𝑥
𝑦 =

−14

8
+
30

8
28

8
−
20

8

𝑥
𝑦 =

16

8
8

8
𝑥
𝑦 =

2
1

∴ 𝒙 = 𝟐 𝒂𝒏𝒅 𝒚 = 𝟏 𝑨𝒏𝒔𝒘𝒆𝒓
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Simultaneous Equation

Thank you
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